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: INSTRUCTIONS :

Papcr _I1 consists of (1) Child Development and Pedagogy (Q.
(Q. Nos. 31-60) (3) English Language (Q. Nos. 61-90) and (4) M4
150) or Social Studies/Social Science (Q. Nos. 91-150) (Attempt an
Ensure filling of your Centre Code, Roll No., Question Booklet w_ )
by darkening appropriate ovals. In case of wrong filling the data,.
Question Paper carries 150 marks. Each question CAITIEN one o
one answer is correct. There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the ap:pmp'
Mark your response only at the appropriate space against the
answering on the OMR Response Sheet. r
Marking more than one response shall be treated as wrong res
Mark your response by completely darkening the releve
should be completely filled. 4
Use of calculator, mobile or any electronic/ helping devie '
to disqualification. _
After completion of Test. candidate MUST remove th

hand over the Original OMR sheet to invigilator before
I.?E I?;lt::-stinn paper will be both in English & Punjabi. |




Paper - 11
o bment and Pedagogy (Q. Nos. 1-30)
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1. According to Piaget’s <0, ,” | de ; opeatable action sequence
1t 1"""31Ci]'.irntitrlt theory. ‘A Cohesive, T pe re meani
possessing cmnp{mﬂ VDS that are tightl intercsa?lfmected and governed  Fs -
referred as which OH * fo lﬁwlng . y - |
m g
(a) Schema Dpemmn c} $iuge (d) Enﬂ{,ﬂﬂtl’lb 4
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3%, fog g3t w3 goagetd fafa’

feg fam © 39 i -
(ﬂ} g’ (L UUH ‘ (d) ITH T,
.:.:;-. 9
. Conventiona@Morality” is a stage, which comes in which of the following theor

| ,_fgevelgpmem Theory (b) Moral Development Theory
Instmﬂtlon (d) Trial and error Theory ) o
‘ ﬁwﬁ,ﬁwﬁﬁ*%‘w&ﬁfﬁaﬁm&?nﬂ@ﬁ’ -

.y . i - ~epts based upon
3. Which theory is based on the principle that learner construct new ideas or concepts based up

knowledge ?
Social Constructivism (b) Cognitive Constructiyism
Radical Cnnstructmsm (d) Sp:ral Comtructn Ism

S TIEEIHT (b) B TTEIHIIT -
'tm,}rﬁvsa I ITHIT (d) TITTT TIEIHAST

%

P ; Which of the following is the characteristics of ‘Self-Awareness’ in the model of Emotional

fg' Intelligence ”
(a) know how to control impulses
{b) know your own emotional strategies and weaknesses

.~ (c) able to set small steps to achieve lar‘s__e goals
;: ~ (d) able to get along with others

& ngm&gwmﬁvﬁaﬁw_wdw@ﬁmai
& (a) feg Fres fa waRar 3 fae’ fsusfes ager I

(c) <3 9" 3 Y3 FI5 BEN 8¢ FeH &2 ¥ I9% I
(d) 96" 5B AH II& T 8B I ﬁ_;f

g e e > Emm.m ion and Introversion of trait theory of Pe & S
(a) Carl Jlmg22 (b) B.F. Skinner (¢) Albert Bandurg D Crorio:ﬂl;dugm ;& 4
a3 & g2 TS Ef Foandt w3 nizsnd g
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Which of the following refers to gender division ?

(a) The hierarchical unequal roles assigned to boy and girl by society
(b) Biological differences between boy and girl

(¢) The ratio of male child and temale child

(d) The division between male students and female students

J&' fefant feg’ faas foar 23 @5 Az Fdw J:

(a) FHT o0dT &3a7 w3 ®3dt & AUt aEhort A FTHAS
(b) B3 i3 H3at fegarg dfed 39

(¢c) 3T H9 M3 HET §d € nau's

(d) &9 fefenradt w3 et fefenradt fewarg 23

Recall type test and recognition type test are the types of

(a) Essay type test (b) Short answer type test

(¢) Objective type test (d) Very short answer type test

Fe J96 farmd Utfant »i3 Aays g9 famry utfunr, fapH J5:

(a) &Y T Yt (b) 22 833" T famy Uit

(¢) feamut yifumr rg)mﬁmmmﬁ?ﬁgﬁw

What 1s the ftull form of "ICIDH" ?

(a) Indian Classification of Impairment, Disabilities and Handicaps

(b) Indian Classification for Impairment, Disabilities and Handicaps

(c) International Classitication for Impairment, Disabilities and Handicaps

(d) International C l'm:iu,mmn of Impairment, Disabilitics and Handicaps
'ICIDH™ €7 Yyds du &t T

(a) EFe aaHifeans me fEim@Ene, fBrmfEstes vz I3taun

(b) s awrtfeans ea Funanz, fEamfastels miz osteus

(c) fEeaarss awHfeans ed fEumane, Eamfastela iz astaun
() FEeasnss awHifeans nie  fFumegie, Emifasica »iz g3taus

The concept “Identity versus Role Confusion”™ happens in

(a) Early childhood stage (b) Adolescent stage

(¢) Childhood (d) Middle childhood

ufggre g™+ gfHar 8wse’ € urgar Jet J:

(a) WIS I niEHE 19 (b), forg nerr &g

(¢) T® nieRE {39 (d) WO 9% nierer fEg

The right sequence of major stages of cognitive growth as proposed by Jerome Bruner are
(a) Symbolic, Iconic, Enactive (b) Iconic, Symbolic, Enactive

(¢) Enactive, Iconic, Symbolic (d) Symbolic, Enactive, Iconic

HIIH ggag eI HSEMT gIET WY 8fta fear €t meraret & Bt @3t 37
(a) Fa3A, HISK, B'ealt (b) HI3H, A3, &eat

(¢c) &'edt, HI3X, A3 (d) A3, &edt, Ha3d

Who said that, * if a child will not learn before he is capable to learn, then why bother; and if a
child will learn automatically after he has the capability to learn, then why bother™ ?

(a) Jerome Bruner (b) Howard Gardner (¢) Lev Vygotsky (d) Jean Piaget ot
fars faor * a9 féq dor 7e’ €0 fiuz © war I 3 ufust &t fitear, ﬁwﬁ?fma 1
w3 79 gor fiuE € Gagr 3 amie wiy 3t fiftar, afﬁfaﬁ‘ﬁmaﬁ

(2) FIOH §9869  (b) TRYS FYSEFT  (c) Wi FNieEst  (d) s Ammy
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12. Which of the following theories, identifies four stages of child’s intellectual development i.e.
sensory-motor, pre-operational, concrete operational and formal operational
(a) Erickson’s theory of Psycho-social Developmen!
(b) Freud theory of Psycho-sexual Development
(€) Jean Piaget’s theory of Cognitive Development
(l“ Kohlberg's theory of Moral Development

J5t fefant fog' ooz fAuais 89 @ Sfug fegH ot 979 mieAE! A fd ASEd-HeT,
uaewm mﬁmmmmﬂﬁwmﬁmwa
(a) TIStams T HE-ANfaa fearm & RO
(b) g8z = v&-fasrt fegm = fHuts
(¢) #A15 fipig & gfua feaqm o fAT3

(d) ITHFTI T 5f3a feay v s

prove cooperation

13.  You have a mixed class of bovs and girls. Which method you adopt to 1m

14.  Which makes an adolescent revolt against authority ?

(a) Hec thinks that he 1s mature enough

(b) His want for recognition and independence of thoughts and action
' (¢) He thinks he is mlu.lht':..nl enough
(d) He helleuu that he does not need any dd\iu‘:

J5 feg fagz f¥a farg & nifuardt € fedu feega ag@er J7 |
(a) BT A9e J fa g <t fimrer 3 |
(b) BT fegrat m=3 IHT & HB3T N3 niATet IdeT d
(¢) BT Auer 7 fa 8 aret gutHs T

(d) €T AT T fa BR38 far AT & 7993 &0t 7

15. “Education doesn’t bring about social change, rather the social change results into an educational
change” whose view was this ?
(a) Auguste Comte (b) Emile Durkheim (¢) Herbert Spencer (d) Karl Marx

meﬁmmwmwmwfﬂfmﬁm#
foamar I feg farer fegg At
(a) YWIIHZ aHE  (b) EfHST 3Ifun (c) JI¥IC AUBHT (d) II& HIIH

16. Observational learning consists of
" I Attention and retention Il  Attention and reinforcement
I[II  Production processes and motivation IV Reinforcement and motivation

(a) Il and IV cmly (b) Iand [l only (¢) Illand IV only (d) Iand Il onl
Psshear miftpars 29 Fres 3 ;

I feavam?wwaaa? I fEaEsT w3 9% fedt
[l 83ues Y&t mi3 yaaT 1V g5 feat ni3 4

; | CLoARE
_ (a) fAGR I3 IV (b) TASS I M3 1l (¢) fHI® IMI IV (d) fAIg Inm3 11
. (Paper-11) 4

) between them ?

! (a) Asking parents to discuss equality |

. (b) Making boys and girls share a bench :
E (¢) s::l[illi. tasks which have to be done together g
! (d) Talking about equality in lessons ,

* maﬁmwmﬁé]’ﬁ?ﬁﬁ—ﬂ‘ﬁﬁ?ﬁmalB'H:?'@Wf'étjd'd}-ﬂdmdl 9 AUg
: I35 et faazt feut mu=8ar 3
? (a) H3™ fU3™ & AHTs3T g9 fegrg-eeiegr J96 SET JJdl :
} (b) HZ »i3 FFT § ¥ &9 HisT q9w fola _j
l (c) MifAT IH felar g fFdfont o3 A7F I6 :
f (d) U €8 AHE3T 979 3% JJdr|
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He is given five sentences (0 be
= )

Suppose 1 - indi
You get a Punjabi medium student who has learnt Hind1. o evaluate in him

ranslated from Punjabi to Hindi. As an evaluator. which aspect “'“”:jd ytru t?’: it i
(a) Application  (b) Kn athesis (d) Understanding

A owledge (¢) Synthesis N g Hevie

Tt 3 58t nisere g9s ®et o3 aF 96| HEaE d93° € 39 3 3AT & COE

T H®'FE J95 € T35 J9dT|

(a) TI3 (b) forrs (c) FAGHE (d) AH3

The slogan of “Learning Without Burden ~ was given by |

(a) Adielshiah Committee (b) Ishwer Bhai Patel Comnuttee

(¢c) Mathur Committee (d) Yashpal Commuittee

“T8 a5t nifthes™ T s a3t fanrr H

(a) mtri(‘ﬁH_'d IHST Sl (b) tri;:]q-;d QTE’C]' Ues IHeT E_D’HTET

(¢) HTET FHST P (d) TRUS THST BT

In Summative Evaluation, which of the following mode is used ?

(a) .‘%H:-ii;__’llﬂ'lﬂlll (b) Gruup work

(¢) Classroom discussion (d) Annual Examination

(a) Afunf Ifenr (b) AHT IA

(c) AH3 f&T fegrg =ciea (d) A& foHfzas

Which of the following is the most appropriate form of assessing the *Affective Domain” of the students /1
(a) Interview (b) Observation (c) Questionnairc  (d) Wnitten Test

Jot fefantt e farasr fefonrgent €t YgeRs! 439 & HO'aE 496 € AZ 3 ?U go< gU I
(a) %ﬁ@ (l:), factus (¢) U_'FT?'ST%F& (d) f&uz Uttt g

Pranav scems to be overloaded with energy. He bounces on his seat and frequently interrupts
others. It is difficult for him to focus and listen to his teachers. He is more likely to belong to
which of the following categories ”

(a) An emotionally disturbed chld

(h) Attention Deficit Hyperactivity Disorder (ADHD)

(¢) Attention Spectrum Disorder (ASD)

(d) Dyspraxia

yze Baar &% Gegws yI3 der J1 87 izt Ale Bus Bemer U w3 ®ar39 J95T € M
frg fows uBe 7. B ®Ft Bre wiftmua 3 fimis IT9 J957 w3 gEaT i J1 8Re It
fafamit fog faoat AT &% FEU e J& & AgRa J7

(a) FEEIHS 39 3 HI5 fEa dor

(b) WZHG 3eifHe getugniadifedt fsamimasa (ADHD)

(c) MEHE AUGEIH fAa3d (ASD)

(d) fBRYSHMT

ZPD stands for

(a) Zone for Proximal Development (b) Zone of Proximal Development
(¢) Zone with Proximal Development (d) Zone for Proximate Development
ZPD 3 3° J

(a) A& @9 YSHHS fesuie (b) 75 g YUIHTHS f3TBUNZ
(c) 75 fee yartvs fsemune () 75 T9 yaHthe fsesuie
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concept that is new. original and useful. is termed ag

23.  The thinking process involved in producing an idea or @ Syssits 3
(a) Creativity (b) Innovation (c) Intelligence _Y“ ; |
fea feag H;yU’EF 5 == Tifsa w3 wIefed J € 83T g AiHS H? yedt 3 faor Ay 8
(a) FIS3SHAT (b) d=< (u}f,é’lff (d) Hi&a e
24. According to NCF 2005. the role of teacher has been that of a
(a) Authorty (b) Dictatorial (c) Permissive (d) Facilitator
NCF 2005 niaAa, mftmmud & 3fHar d
(a) vifgeat &8 (b) @AY T (c) Gug & (d) Heedrd &
25. “Having a diverse classroom with varied social, children from economic and cultural background
enriches the learning experiences of all students™ this statement 1S
(a) Incorrect, because it can confuse the children and they may feel lost.
(b) Correct. because children learn many skills from their peers.
(¢) Correct, because it makes the classroom more hierarchical.
(d) Incorrect, because it leads to unnecessary competition.
(a) I3 T, fa8fx feg sfon 3 85T Aaer @ »3 €7 rfen” HIJHR &3 Aae 5
(b) Hﬂ%,ﬁ%ﬁﬁémwﬁhﬁﬁﬁmmwmﬁaédh
(c) AR T, fa@fa fea mm3 & 93 e9AEU gger J
() I3 7. faefa feo fEx 553 HoEs @ d96 &€ AT J
26. Arrange the following components of teaching jjmcess in order :
[  Selection of the subject matter [ Evaluation Il Feedback
IV Formulating Objectives V  Teaching
(@) 1 H&EWl IV VY () 1 1 IV Il V
) Iv.1 v I H (d IVI V III I
| feR @Az €1 92 Il HetaE n gtsda
v Gem T faaHE vV  nfftmirus
(@ 1 11 1 1V Vv () I T IV I V ;
@y Iv 1 v II 1 (d IV I V III NIl
97.  Which of the following statement s correct _abol:lt Jean Piaget’s theory of cognitive developmen ." 1
(a) The sequence of th‘e stages can vary a‘ccardmg to the cultural context of children. e -= |
(b) Piaget argues that instead ::Jf Fmgressmg thmug.h-st'agcs, cognitive development is continuo g
(c) Piaget has proposed five distinct stages of cognitive development. ! Ay
(d) The stages are invariant which means no stage can be skipped.
e R @ Bt feam @ RS T 5 fefnrt fed fora e et 3
(a) Homit ¥ AAfISE AETS WERS UT< & &t 94 § Aot §
(b) fimpar Fa Fuer I fa uaet I feam & & 3 Efg feaw fsdzg 3
(c) fumi & SfI feamn < U fefitre uaret & fireram o=t 3 L R
(@ s v w5, 01 w3 o ) o o e o ey
(Paper-1I) 6 o




28.

29.

According to Ley Vygotsky

(a) Children learn language through a language acquisition drive

(b) Interaction with adults and peers does not influence language developmen
(¢) Language development changes the nature of human thought

(d) Culture plays a very small role in language development

BT FaIeHat MEAS

(a) &9 AT f¥x IR yust 38t It fiue 98

(b) I »3 AEM 5% TEIHY FHT feaH § YFe3 5J1 J9T!
(c) IH" fear Hae AY € yfgst & gese J1

(d) ARfaSt s feam &9 903 831 sfvar fag@<t Ji

alr.r

According to Right to Education Act, 2009, children with special needs should study
(a) in vocational training centers which would prepare them for life skills

(b) at home with their parents and caregivers providing necessary support

(¢) in special schools created exclusively for them

(d) in inclusive education set up with provisions to cater their individual needs
i @ wifTerg WIStz 2009 WiEAT, feiE Agast @3 dfonr § uge T
(a) 3w et des 29 fros 89t & fies fadaset et fanrg Sued
(b) w3 <3 @W-ﬁ%ﬁ%wﬁwﬁmmmm

() feitF3e 3 wifivy afanit =3 Bee o fern Aast e

(d) @mewﬁwmewwﬁammwﬁ

CIH

An effective teacher in classroom, where students come from diverse background would:

(a) create groups of students with those from the same economic background put together

(b) push students from deprived backgrounds to work hard so that they can match up with their peers

(¢) focus on their cultural knowledge to address individual differences among the group |

(d) ignore cultural knowledge and treat all his students in a uniform manner

@) T wifa fusas @ fefenrasin & fede 998 Mg BETEa

(o) 2o fudas 3 Fefewrasint § firans T ot 73 wavear 3t 7 G0 w7
H® &d Hd<S

(¢) AT &g fenatars fagmet 578 Hursa I BEt s’ ¥ ARfasa fami 3 &(e9 J9ar

(d) AAfgsa famrs & nisefimr g3ar w3 A fefonradin a5 feam feeae e

o - Paperm)

- - by 7Y LEF |
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o 39 fifs3 faa? Hs3 88?2 8 997 © H'E, 1d Ad'?
Ar 2 €3 Adeg 2341 fes faa?

&I O 2t 8 fBgH S AT,

AeTEe B UgrEt RS 239t e g8 ?
AA-ferd & €9 neg, 37, fifarg 3 A39 87
&3 3 HIT?

Ag fad 991 3 ggardmi, Gg HiJE! & Ja1 I T,

8g g5 U3 Ja1, g f38eg g3,

Fg< | fog yget g9t fadt AgmsT,
fagred e 8 s Hte (g8 7

@g reMi & 997 fan @<,

8 yas fius faa 83 famr?

g e, g virfemyr, @9 fan aifanr?

eaﬁagagaﬁ,y?éée-ai‘ﬁanr,aﬁaﬁt
vifenr, 313 373 98 3 et H, Wil wesers fat
o fAd Mg A, AH TG B II R,

3 o o i A Afenr, HfSHT "I B8t S 7
&n feo 9fde, 8%, AT, A9R, 69 feaﬁrnm
At fie A A

LV A 5 M
= R R e L3y i
L L o S e TS i L e et bt ™l
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BUR o wha & e e 3

(a) El‘“"afj (b)Y MI™E Uiy é, (¢) HM =l -:i;r
AH-feowrdn & faagdt et grerg andt it 2

(3 98, g}, wig (b T, drEt-faes, =28l

(¢) "Wed. tHarg, Hag (dy s, ufaarer, urE - UiE

wWEge 3&t 3w )? |

(@) Wafenr (b T fenr o & FerTw (4 QuIA3 AR &I

frg Jfe3 fanet faut At J2

@ Qugs iy () BB UIT (o) WHEEH (4 T EBES

JiSI A wgg Q ?

(a) TI3 (b) HAR" (c) GTH (d) ™SHHA

a3 @ g o egaE I 2 y

@) Uus, & (b) ogs, 9SGt (o S93, fiug (4 fdag, =291

A3 faR 397 S I ?

(a) SHA (b) THI Shff (c)y/ f38ed (d) a3 &9 adt &t

h‘l} ﬁ?;-;'l' ﬁ?i,ﬁlll Ei;

J&* o 09 & fimrs &5 U 3 iE3 I yns @ €33 fe8 - yis o: 133’4%

gTs T mwaﬁﬁlmﬁmém@ﬁﬂmﬁawméﬁmw
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WIH-HIST feg8e feu &6 I5, g ey feg fog s €5 f vdu A=t A fJenss ©

Ao 3 filst feg wfag il o6 &df J29r, fA8 =X, »oA'3d 998 o 83 ST &t J=d A
WB%‘B@?SEH‘EH?S&ddaﬁwwﬁﬁwwwﬁ?@afﬂ@wééﬁafﬂeﬂﬂ?
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~# 3 fog 37 23 Qo foge’ TH3 IF M J: fa8fd I3 § 283t 3t Al gR, M3 I8 T
wWHES © g WIHa wIE figa’ § &dt It ARSI MBS TN CAAI S FH UE &
firys 395 B 23 @wﬁﬂaﬁélﬁé—o{@a—eaaﬁ W I Ufewyag A &
n@ﬁéﬁwé‘mw Y H9 AR SHI3 I35 B8 3 9 I HIA TIS 3
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3 s &t wrerg, Hed' 20 2% © IFeT Heen € 5 BElE! 3 W3 M HIE SIS I

3 ug Bus 33 AfyS feo Hod 936 3 fd i v U 31 3t s v 3 IS R T
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8. BB T ifiE @ fag 37

(a) fos e ufgsr ufgg (b) ng

(¢) et mff () EHD A US TS
39.  BEs 2 3F fan 39a A2 G52 T%?
1 (a) 99 T 5H BF s (b s I BE!
4 (¢) Ur" JI& It () QI3 fed 5

40. ﬁiﬁnﬁeﬁrécdﬂ@ﬁmﬁ?mgra?
(W e g de e anqusr (b IHE, 83T 3 T

(¢) IBt-faed & 3z (d) Afgrgd € IH AT

4. Bes <9 HH 935 3 umie gy A o figgr s afder 97
(a) T'I-ULd TSI J Her (b) FHHS D TE@ FU I3 7el I
(¢y MEHE B HOS 20 A I6 (d) AT Afgg de I AT J

42. w3 T yTgt g He J A I57

(a) SGI ISt (y foa-fsad iz () &9 (d) Bes e 2udt
43. I N Ffge g I? 1 .
(ay ifi{3 <V GaE B (b) aH & U AHSE BT
(c) I3 4TI &8 He A (d) Hed' feo 28 g3'gE BE
44. il AZB3 IHS S96 B faA fe ferem IR 777 -

(3y THIS3 (b) FINMAYIES (c) R-femen (d) - ITAS
45. BTS T B ASBI ITHS 9I6 B8t fan feu fere™r Jye g&7?
(a) FI3YT (b)) WIFIS () I3 HE-drd) QuI3 o et oot

46. Hfow B feaH 3 foaHE T e J |
(@) FBAIH T (b) IBHET (o) BT (¢ ufserg 3 witmmm StE

47. wifimnue g S8 Agel I- i
(a) BFE fefena I3 (b) BITET =Ifdq ;
(c) Hofefamres & Areardt (d) QU3 A

48. fifeor T Wy 627 J fefenrast &7
(a) MEHHG feu Ifge g (b) 22 iy
(c) ™rfgmr UBE FIo" TG (d) TITY e

49. &9 feg I T f9H |
(a) FBIEIAAGH I T I I | (b) VA S I Fer
() fAag feaA3 AEE-I89 &8 g | (q) fEuz & Yafen s der 3,
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56.

57.

S8.

59.

mé”'aa'ﬂ‘s’ﬁﬂéﬁmﬁ%n@@é?

(@) Ufgeg (b) T ) HEE (dy IS

[ @ 299 Gurgs st ot egfanr e 3 2

(a) Rich (b) A (¢) ™OE (d) fAISt

HY'd Htmiy 39 Jer J»

@) fReg-Tceg ax (b) IHE B

(¢) U's Uuggs &5 (d) Yree fedt &5

UAst 37 & i3t fagst 97

(a) STEISR (b) I (c) -t (d) a3 feg 3 & &Jf

A & Qu-IEt Wit fae- ) 95t e 2
(a) IFEHYS, Ufenrsr, Wifi{zrg (b) SuF, BfemreT, WiH3AI

(¢)- IITHYI, Mif{3Hg, ¥ (d) IYIES', HBIATE", IrIug
foH 37 § UFs fods B8t =8 I fomd @ Ayg & ot e e 92

(a) f&UI (b) EIJs (c) HI (d) ferrags

Uardt e Jat gahr fagdn I&7?

£ U e 93 (b 38T (c) T8, 3,8 d) .o, I
2 ot 97

(a) 9 (b), ferivs (c) "IT-7I (d) HITI

wei fagst famd © ferfia J 2
(a) faecagewd (b) JI BT (¢) HOSTIS };P/ﬂa?'ﬂaﬁ'ﬂﬁ-ﬁ

IS AT © AHGIES HYE off J7

(@) AH (b) Wfi3 =T (c) H_I (d) 23
W feg faagx »ai3g ©f @93 Sit3t aret 97
(a) 3H (b) H (c)"HI (d) HT'
1
f
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. ' Nﬂﬁ. ﬁl“m)
English Language (Q . s (Q.Nos. 61-66)

Read the passage carefully and Answer the quest
passag : .nd. indeed he is widely regarded as the

It is easy to accept Freud as an applied scientist. < an applied social scientist the
twentieth century's master clinician. However, in viewing g e =ﬂ"..’t; s neither to bury nor to
stance needed is that of a Machiavellian operationalism. The ol'zltﬂ-“ﬁr i:;ciﬂ” understood as an
praise him. The assumption is simply that he is better un_derstm:rc‘l '} et :jr Eourbach. which
applied sociologist. This is in part the clear implication of Marx s T’viierpreled the world in
culminate in the resounding 11" thesis: “The philosophers have only Il bL‘ e tacit creed of
different ways: the point. however, is to change it.” This would seem 1O
applied scientists evervwhere.

Marx was no Faustian, concerned solely with underst
sought to understand 1t well enough to influence and to change 1t.
the social problems of a lay group, the proletariat. and there can
motivated by an effort to reduce their suffering. as he saw 1t. His di _
miserv and alienation engendered endemic class struggle: his pl‘ﬂgﬂﬂﬁlﬁ B i il
culminate in revolution: his therapeutic prescription was class cONSCIOUSNESS and HLH‘, hi}i ‘.;:!ll

Here. as 1n assessmg Durkheim or Freud. the issue 1s not whether th:s_ﬂnaiysm ‘1::. Ll‘i'lp1 ¢ ty
correct or scientitically adequate. Furthermore. whether or not this formulation se€ms to ey Ith::.I:l’l ?
Marx’'s revolutionary core, as critics on the left may charge. or whether the mnnukuI‘m}ﬂprm'l a.lea.
Marx with a new veneer of academic respectability, as critics on the right may ﬂ“ﬂ_-‘r"" _’f‘f"“rei
relevant from the present standpoint. Insofar as Marx's or any other sqcm‘l St:lt‘.'ljlllb't‘ S u;jﬂr
conforms to a generalized model of applied social science. insofar as it is pmteﬁz‘-m"ﬂ“}' Ol 1ent‘c 1_"'0
the values and social problems of laymen in his society. he may be ireated as an applied social
scientist.

Despite Durkheim’s intellectualistic proclivities and rationalistic pathos, he was to0 n1qch the
product of FEuropean turbulence to turn his back on the travail of his culture. “Why E{rwe for
knowledge of reality. if this knowledge cannot aid us in life,” he asked. “Social science, ‘he said,
“can provide us with rules of action for the future.”Durkheim, like Marx, conceived of science as
an agency of social action, and like him was professionally oriented to the values and problems of
laymen in his society. Unless one sees that Durkheim was in some part an applied social scientist, it
is impossible to understand why he concludes his monumental study of Swicide with a chapter on
~Practical Consequences,” and why. in the Division of Labour, he proposes a specific remedy for
anonie.

Durkheim is today widely regarded as a model of theoretic and methodologic sophistication,
and is thus usually seen only in his capacity as a pure social scientist. Surely this is an incomplete
view of the man who regarded the ;:rr?u-nml effectiveness of a science as its principal justification.
To be more fully understood, Durkheim also needs to be seen as an applied sociologist. His interest

~in religious beliefs and organization, in crime and penology, in educational methods and
organization, in suicide and anomie, are not casually chosen problem areas. Nor did he select them
only because they provided occasions for the development of his theoretical orientation. Th
areas were in his time, as they are today, problems of indigenous interest to applied sociol - SO
Western society. precisely because of their practical significance. 1o0logists n

61. Which of the following bt_:'st describes the:' author’s conception of an applied social scientist 2
(a) A professional who listens to peop!r_: s problems :
(b) A professional who seeks social action & change

(c) A student of society
(d) A proponent of class struggle _

62. According to the author, which of the following did Marx and Durkheim have in common 2
on .

i,

anding society. but a promethean whn
:He was centrally concerned with

be little doubt that this worlf is
qunosis wWas that their Increasing
y claimed that this would

(a) A belief in the importance of clas§ struggle ) i
(b) A desire to create a system of social organisation 5 ik
(¢) An interest in penolt_}g}' ol 3
(Megard for the practical application of Science E
(Paper-11) - 1 ) ;




63.
64.
65.
60.

b
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|

|
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|
A

R R U7 wOorvvagyy oY) { FLEO ) t.{ [+ & N b ft .
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=
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It may be inf . - “the
> 0C inferred £ - oo miaht be interested m all of the

% ; n}n L - ? r " "I'l[]:l.ll II]IL_' .'ll L

lollowing subject cwe;}:ht g ————

(a) Thﬂ' SRR

WL :!hf;;;}"} Of mechanics (by How to ma
- -.‘ . N L ' ;
dbiitation of juvenile delinquents (d) Reduction ©

ouished from pure social

e that the nppln:d
ke workers more efficient

( social tensions

g sclence by its
(2) rfhn:’.! 10 ”‘,‘*‘ passage, applied social science can be distin _ : b,

<) practical significance tb) universal application
(¢} culural pluralism (d) objectivity

Which of the tollowing best summarises the author's main point %
(a) i'\:'lur.\‘. and Durkheim were similar in their ideas
(b) Freud, Marx and Durkheim were all social scientists it
(¢) Philosophers among other. who are revarded as the theoreticians can also be I't’-‘:f'i'”"»i‘-‘-:{d as empiricists
(/Lll Marx and Durkheim were applied social scientists because they are concerned with the

solution of the social problems

All n1l the following are mentioned as topics of interest to Durkheim except
(@) Suicide (b) Psychiatry (¢)/Crime (d) Education

Read the passage carefully and Answer the questions (Q. Nos. 67-74)

Ihe first and decisive step in the expansion of Europe overscas was the conquest t’lf: the
Atlantic Ocean. That the nation to achieve this should be Portugal was the logical outcome of her
geographical position and her history. Placed on the extreme margin of the old, classical
Mediterrancan world and facing the untraversed ocean, Portugal could adapt and develop the
knowledge and experience of the past to meet the challenge of the unknown. Some centuries of
navigating the coastal waters of Western Europe and Northern Africa had prepared Portuguese
seamen to appreciate the problems which the Ocean presented and to apply and develop the
methods necessary to overcome them. From the seamen of the Mediterranean, particularly those of
Genoa and Venice. they had leared the organization and conduct of a mercantile marine and from
Jewish astronomers and Catalan mapmakers the rudiments of navigation. Largely excluded from a
share in Mediterranean commerce at a time when her increasing and vigorous population was
making heavy demands on her resources, Portugal turned southwards and westwards for
opportunities of trade and commerce. At this moment of national destiny 1t was fortunate tor her
that in men of the calibre of Prince Henry, known as the Navigator and King John 11 she found
resolute and dedicated leaders.

The probiems to be faced were new and complex. The conditions for navigation and commerce
in the Mediterrancan were relatively simple. compared with those in the western seas. The
landlocked Mediterrancan. tideless and with a climatic regime of regular and well-defined seasons,
presented few obstacles to sailors who were the heirs of a great body of sea lore garnered from the
experiences of many centurics. What hazards there were, i the form of sudden storms or
dangerous coasts, were known and could be usually anticipated. Similarly the Mediterranean
coasts. though they might be for long periods in the hands ol dangerous rivals, were described in
sailing directions or laid down on the portolan charts drawn by Venetian, Genoese and Catalan
cartoaraphers. Problems of determining positions at sea, which confronted the Portuguese, did not
nri:ae.hTImugh the Mediterranean seamen by no means restricted themselves to coastal sailing, the
latitudinal extent of the Mediterranean was not great, and voyages could be conducted from point
to point on compass bearings; the ships were never so far from land as to make it necessary to fix
their positions in latitude by astrnpqnnc?l observations. Having made a landfall on a bearing, they
could determine their precise position form prominent landmarks, soundings -or the nature of the
sea bed. after reference to the sailing direutiﬂps or charts. :

By contrast, the pioneers of ocean nnwgﬂtig‘m faced much greater difficulties. The Western
ocean which extended, according to the speculation of the cosmographers, through many degrees
of latitude and longitude, was an unkown quantity, but certainly subjected to wide variations of
weather and without known bounds. Those who first ventured out over its waters did so without
benefit of sailing directions or traditional lore. As the Protuguese sailed southwards, they left
behind them the familiar constellations in the heavens by which they could determine direction and

13
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67.

68.

69.

70.

71.

12,

78.

- (by "Awarding marks to children

ar e by a simple operation they could
the hours of the night. and particularly the pole-star lrn;;n wT;l.u trh;uutcncd oy by 1
determine their latitude. Along the unknown cOas™ i I Lee of convenient shelter of ride out
banks. rocks and contrary winds and currents, with no knowledy

. T wander that these pioneers dreaded the
storms or of very necessary watering places. It 1s Little w :_mc?t:{: n-.:ccn e sl |
thought of being forced on to a lee shore or of having ¢ choose crs and
the unrecorded perils of the open sea.

Before the expansion of Europe overseas could take place 1o be recruited
(a) Vast sum of money has to be raised (b) Anarmy hac rl}n hL]II
(¢) The Atlantic ocean had to be conquered (d) Ships had to be bU

One of the Portugal’s leaders, known as navigator. was in reahty

(a) Christopher Columbus (by” King John Il
(¢) A Veneuan | (d) Prince Henry A
~ ——— “the tollowing exc
Portugal was adept at exploring unknown waters becausc she [')Uththli all ol't g ept
(a) A navy (b7 Past experience
(¢) Experienced Navigators (d) FExtensive trade Routes
o ; . . AR » 1Y 104 )
In addition to possessing the necessary resources for exploration, Portugal was the logical country
for their task because ol her ,
(a) Wealth (b) Navigational Experience
(¢) Aecographical position (d) Prominence
The Portuguese learned navigational methods and procedures from all of the tollowing except
x) Jews (b) Catalans (¢) Genoese (d) Acgeans

Mediterranean seamen generally kept close to shore because
(a) They were afraid ol pirates

(b) Fhey feared being forced to a lee shore

(¢¥” They lacked navigational ability

(d) The latitudinal extents of the Mediterranean was not great

Hazards such as sudden storms & dangerous ¢ ere
(a) Predictable risks Unknown risks
(¢) Unknown to the arca (d) A Major threat to exploration

Sailing close to the coast enabled seamen to

(a) Reach their destination faster

(b) Navigate without sailing directions

(¢) Determine their position form landmark s
(Q.V%)elcnninc their longitude and latitude

The Broca’'s area and Wemicikﬂ‘s arenhin the left hemisphere of the human brai
speech production and speech comprehension respectively. The above s |
(a)< True : ‘ : (b) False late 15
(¢) True only in case of Broca's area (d) True only in case of Wernicke's
Which of the following falls in the category of non-creative literature 2 area
(a) Picture composition " (h)Essays :
(c) Poems (d) Newspaper

The assessment of the child should aim at

(a) Rank and place of the child in the hierarch

n are responsible for _':_f:_':;:

It

y of achievement

(¢) Finding gaps in children and planning futyre st .
(d) Planning or failing children ¢ rategies

Which of the following is the formal activity of conducting or |
() Question Answer (b) Story Tfll?;l -
(¢) Reading aloud (d) All the above

| i et N ~ I T, Ny
Lo . e R
1 M, : - :
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81.

82.

85.

86.

87.

88.

89.

ﬂll ~ ~1 y 11 '
S— living human being are endowed with some innate Internal Capacity for language

acqui
‘;‘I Sition that other animal do not have® was the assumption of
) B.F. Skinner

(b) Noam Chomsky (¢) James Macawley (d) Weinrich

Cnﬂjllllctiﬂn:i are

(@) Distributive Words {b)/suhbfl[ll[ﬁ‘ Words x
(¢) Function Words (d) Content Words

Which type of grammar believes in change along with the change in the language ? :
(@) Formal grammar (b) Functional grammar

(¢) Both (a) and (b) (d) None of the above

Which method of tcaching erammar dnf:, not n.,alm. the necessity of associating thought w ith
cxpression ?

(@) Deductive Method (b) Inductive Method .

(¢) Correlational Method ) Incidental Method

Which of the follow Ing statement is not correct in case of a diagnostic test ?

fa), Diagnostic test helps us to know the particular strength and weakness of a student 3
lﬁ It provides the teacher a single score |

(cY It locates the degree of deficiency

(d) The test items are analysed on the basis of wrong responses of the students on an item
Which of the following step is essential for undertaking remedial teaching ?

() Planning. Organisation and Evaluatimg (b) Leading

(¢) Both (a) and (b) (d) None of the above

Introduction of which fype of composition at the early stage may develop habit of copying from
cheap books 7

(a) Controlled composition (b‘f Guided composition ¥
(¢) Free composition (d) Creative Writing

Which of the following is the sub skill involved n listening ?
(a) Identification or Decoding sounds

(b) Understanding Syntactic patterns or structures

(¢) Identifying information, Emotional and Attitudinal tone
() All of the above

.

Which of the following 1s not a movable prgan of speech ?

(a) Lip (b) Soft Palate ) Vocal Cords ) Alveolar Ridge . |
Which of the following statement is false ? | | T
(a) Language is not just pairing of grammar and dictionary | s

(by Language is constantly changing
(¢c) All languages have vowels and consonant

(d)- We should teach the students abmtﬂne language : Thi ._._'_}; Ea
Which of the following statement is mcﬂ‘rect ? | '_;_-J__j__ :r.. | .

(a) Mother tongue can be used as a medium to teach English I angu % : e
(b) Assessment of Language proficiency should be holistie
(c) Focused listening is also called intense listening Gt R e h s
) Englmhdﬂummvmanmdmufmpﬂm“
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Mathematics and Science (Q. Nos. 91-150)

, i
¥
-
AL
l_
=
= |

afEs ni3 fefamrs (YEs 3 91-150)

Mathematics (Q. No. 91-120) |

IfE3 (YEs 5 91-120)

lhe square of -0.02 is d/ *E-
(@) -0.0004  (b) -0.04 (c) 0.4 (& 0.0004 'Sc::.__, 3
-0.02 ¥ Tgqr I ' <)
(a) —0.0004 (b) -0.04 (¢c) 04 (d) 0.0004
H.C.F. of polynomials x*-y* and X'~y is a ,,.
(a) x+ty (b) x-- »3 ) ¥y Ad) x-y _,,-'—-? 4’3 £
USIETHIEB -y’ w3 x'-y} T HISH AHU=I3S - ' b
(a) x+y (b) X-y’ (©) xiy (d) x-y i
93. A sum of Rupees 3300 is shared between Ram. Ramesh, Rahim and Ravinder. Ram gets 1/3 of IL:{KSE
whereas each of Ramesh and Rahim get 4/15 of it. then amount of money Ravinder gets is 3 E
(a) T 480 (b) T 880 (c) 440 (d) T 460 6/

3300 JUE T IH S IH, IHH, ITH w3 afteg g Sfonr G J1 IH s ferer 173 fdmr 1

fH®er T 7efa IHF w3 gty I3 3 femer 4/15 fim fuser 7, feg Ifdes 3 YUz IHt J: \
(a) 480 Uz (b) 880 JuE (c) M40 FUT (d) _460 HU‘E'
94. Ifa:b=2:3and b:c=35:6then ab:cis ¢ & ﬁ
(a) 2:3:6 _ (b) 10:15:18 (c‘)/ 2:5:6 (d) 6:5:12 s § ' "1
Hdd a:b=2:3 ™3 b:c=5:6 €T ab:c T & ~—C, }
(a) 2:3:6 (b) 10:15:18 (c) 5% @) 6:5:12 q
95.  Two poles of height 7m and 12m stand on a playground. If the dmnm,:. between their feet 1s 12m.

then the distance between their tops is |
(a) 12m . (b) Ilm ; (¢) 13m (i]) 1Sm
7 HIZg w3 12 Hizd @uEt @8 € ¥3 fea uz ¥ Hew &9 u¥ 75| Ja9 Qust @ U9t ¥

g4l 12 Hiza 3, feg Gawt © fiuat fegarg edt T

(af 12 ¥ieg (b) 11 ¥Hizg (c) 13 Hieg @) 15 Hteg . &
96. Mathematics is the science of

(a) Beauty (by Logical thinking and systematic Ing

(¢) Critical study (d) None of these . e i

arfa—s fefapns J:

(a) HEIS™ & (b) 39AYT5 19535 3 feenfyz fedgs

. . 44
(c) MBISIHA MUE €7 (d) &5t f&F =t s

97. In a combined examination of Mathematics and Enghsh, Rani secured

- e e 3 morks out of 100
Mathematics. The number of marks Rani must get in English out of 150, so that she T
s e 5 (d) 99 i s mﬂ E

mwmﬁmwmhwﬁﬁmﬁamnﬁg &
&t 3 wiargHT €9 150 ﬂaﬁf‘a’amﬁ?ﬁlﬁaﬁ?ﬁ@mﬂ% f i
(a) 69 63 (). 67 (d) 99 ' R
98. Ramesh's age is 52 years and he 1s 4 years more than twice the age of hi o
which of the following relation i true ? =€ O7 Tis son whose age is x yeargl¥
I ﬁ @Ha 52 A I M3 QU SEERIEST fFI'HET §'HH X A% I é} @1(:3‘% 5 5 *

(a) §2=2x-4 (b) /ﬂﬁ =2x+4 (c) x+4=52 (d) 2{.‘”} #ﬁ
P oper-an % < o



99.

100.

101.

102.

103.

105.

106.

An angle is one fourth of its supplement and two-fifth of its complement, the measure of the angle is

(a) 18° : (b) 72° (c) 36° (d) 54°

T 3 fene mumtie o dw w3 qusdtive o 2/5 fFT 3, & & HU 3 \\
(a) 18° By 72° (c) 36° (d) 34

The number of vertices, edges and faces respectively of a cuboid are n’?ﬁ %9/
(a) 8,6,12 - (b) 12,8.6 (c) 8,12,6 (d) 12,6,8 1}5
fex warerg & fiafantt, Sfentt w3 warefant ot fredt 3 Vs
(a) 8.6, 12 by 12,8, 6 (c) 8,12,6 . (d) 12.6,8 p

In a class of 50 students. 30 study Hindi, 25 study English and 11 study both Hindi and English.
The number of students who do not study any of these two languages 1s

(a) 11 (b) 19 (c) 14 (dy 6 : 5
50 feferraeot & fEx mirs e 30 et uge os, 25 wiewt uge I5 w3 11 f9et #3
MITgHT 82 UZT T5| fefenradng & Afimr a3 feast 90t fog a8t 3797 &4t UZE T5:

(a) 11 (b) 19 (c) 14 (d) 6

A drum of water is 3/5 ful
the drum in litres 1s

1, when 38 litres are drawn from it, it is just 1/8 full. The total capacity of

(a) 80 Ty et (c) 94 (d) 64

U T f8x 39M 3/5 31 3fomr I A 2R BT 3R ®ied de & A I 3 fgg fAge 148
71 Ifgmi™ T | SIH ©F BiedT g I& AHIET J: \

(a) 80 (b) 84 (c) 94 (}/ 64 C

The ratio of A’s share to that of B is 3:4. B gets 2/5 of C’s share. If 425 Rupees are divided among
them, then A will get

(a) <100 (b) ¥ 250 (e R3S (d) 125 E et
AT o BT A T vizu3 3:4 31 B3 C IR & 2/5 391 fi@er J1 7a9 425 JUE
Qust g €3 a® I5, fed A & fHaar ; L w*"’;}“
(a) 100 JUZ (b) 250 JuE (c) 75 JuUT (d 125 U ,
If x is 20% less than y, then *y;—x = e et
4 1 g_ (d) 3
(a) 2 (b) 3 (€) 3 -
g x, v 3 20% ui"c’?ffé‘q’ﬁ?:
i L
(@) & (b) 3 © 3 R
One of the diagonals of a rhombus is equal to one of its sides. The angles of the rhombus are
° 60°. 30°, 60° b) 45°,45°,45°, 45°
(a) 30°, 60°, 30°, 60 ( i
(¢) 60°, 120°, 60°, 120° (d) 90°, 90° 90°, Ly
%%ﬁgfgﬁﬁaﬁmﬁgﬂﬂﬁa‘ﬁa%mil AHYJSH © A& I5!
(a) 30°, 60°, 30°, 60° | (b) 45°, 45" ;13:, ;tg:
(c)60°, 120°, 60°, 120° (d) 90°,90°, 907,

A and B can finish a work in 15 days, B and C in 20 days, while C and A in 30 days, then A alone
can finish the work in | 7

'  (d) 13z days JES s
(a) 40 days (b) 24 days (c) 120 days gy M o
A 3 B fgg an & 15 fest 8 HaHS &d FaE I5, B m% C 2‘3 wmm 5 st &
30 fost g, feg A e 1 § HAHS o9 A 3 HERRRy e
(a) 40 feat g (b) 24 feat 9 ) 120 fest &g (41 Wl ooRy




107. For evaluation, a teacher should use :
(a) Essay type questions (b) Oral testing
(c) Objective lype questions

(d) All of these
H&'AE BT, f8a niftmimug § YGar I98T I97d1

d: LR
(a) 580 Ut yms (b) e feufzas <FFYUTd Y5 () BT FI
1 6% y 2 \ *:%‘-Df“'#' A\~ J'i—jﬂ'itl_ﬂ}}\ );
108. H‘az = thf’:ﬂ,ﬂ e ';-?: ‘ ;{'& u\f'zm &;'il 2\ .,_;CT 2, -+ ‘_} ..:"‘29"1
ﬂz | ™ o C o : —
(a) 0 (b) 2 © %o (A} i 4 | e
ﬁE’T:'a2+Elz-=2 %Ha-%—_- A
- 7
A (aL,B’ (b) 2 (c) Y% (d) ’a
109. The median of the data 5,8,9.10 11,4,5.8,12,15is 56
(a) 12 (b) 8 | (¢) 9 (d) 85 %
Mt 3,5,9,10,11,4. 5.8, 12, 15 = ¥ows - ¥
(a) 12 (b) 8 (c) 9 o ol 8.5 \
| \q";
110.  Trigonometry is related to Triangles in the same way as Mensuration is related to S
(a) Geometry (b) Circles (c) Areas (d) Polygons
3asft, fader s €7 39t Adus 3 1wy mEus -
(a) faorfust &= (b) IIT 7% (c) H3ISH T . Muﬁwm
111. Choose the number which is different from others -
(a) & (b) 64 (¢) 125 G taE 28
BH wid & 9% J9 oz Jas5t 518 2y - & |
(a) 8 (b) 64 o) 125 (&) 28
112. A number is greater than 3 but less than 8. Also. it is greater than 6 but less than 10. The number is
(a) 5 (b) 6 | (c) 7 o Ry g R 4
fea nig 3 &% 237 T uF3 & WE?%IP& 5 R I T UG 10 5 ot ¥ mig =
(a) 5 = (b) 6 7 e "3 2
113. If+ means +, - mean X, - means +, and x means -, then
36 X12+4 +6+2-3= |
(a) 42 (b) 2 w6 118 _
HOd + BT g J +, - T 0P8 T x, = € WaE I 4+
36x12+4 +6+2-3=
(@ 42 (b) 2




115. :1 an examination. a student scores 4 marks for every correct answer and loses | mark for every
rong answer. If he attempts all 75 questions and secures 125 marks, then the number of questions

he attempted correctly were
%35 (b) 42 (c) 40 (d) 46
CECH wlw“mﬁéﬁa%ﬁmaﬁmﬁmwmﬁ.%ﬁwé 1
farzst frost 8rd 4 \ :
S el (b) 42 (c) 40 (d) 46 “ﬁgL {6\
- - 1' '
116. The word which is least like the other words in the aroup 1s S L 1
(a) Algif':bl‘:alﬁ_:‘r (f:)g Trigonometry (¢) Geometry (d)» Mathematics t% : i
HEE WIF 1@ myo 79 J9at meer ¥ Ae ¥ e M § : z
(a) W AfEz (b) faehieEt () froorfit (d) afEs )ﬁ&
117. Problems in Teaching Mathematics is due to
(a) Large classes (b) Teacher’s attitude
(¢) Teacher’s qualification (d) Heavy Mathematics syllabus
afez uz 8= S8 mifmr fom aes T
(a) SBAT AT (b) niftrmiua & I=EM
(¢) miftmiug S Gars" Ad) dfes & o A%ER
118. Remedial teaching is useful in finding
(a) strength of a child '(b) difficulties of a child
(¢) weakness of a child (d) burden on a child
Qumitiar miftmimus Sz &9 Budt J:
(a) fEa 59 & mHdE (by Tox 53 St afsaretnrt
(c) f&a &9 & avmet (d) fexx #9 & &%
119. The Mathematical formulae can be deduced by i
(a) Inductive Method (b) Deductive Method
(¢) Analytic Method (d) Noneof these Fe) .
Ffsf3a Taus MEHES a3 7 AIE T By |
() ferdmeava fedt adt (dy fegst T ot adt ;

120. The purpose of giving homework to students 1s Sl S

(a) to avoid work load of a teacher | e o e

(b) to find out children’s growth by parents 5% g gt LA TSR (AN e

(c¢) it helps the student in understanding the concepts better

(d) to discipline the students | e e T s
& R it Biih LSS P _~.-_-."..f' .

(a) miftmirug T &1 € 379 3 W TI6' i T s SRR e




121.

122.

123,

124,

125,

126.

127.

128.

129.

Science (Q. Nos. 121-150)
fefamrs

‘Grafting’ is a method of (YH& & 121-150)

(@) Anrtificial Pollination »

(€) Cross- Pollination (b) Sexual Remdu::;f: Propagation
AV mr8= fedt - (d) Artificial Veget:

(a) 8222t ugaz & : ot &

(¢) »3t ugrgrz &t EW E%WWB}' yTaE ©f

(3) N“rnbm. (art“m and P I : (b) Cmmst_ Green manure nnd-()rgﬂniﬂ manure
| !Ic.sp'ha__ ; sphates and Nitrates
o Eoft 3 i famet g (d) Sulphates, Phosp

(@) living organisms are made ofcel.ls h - +ructural unit of life.

: : . the cell is the structurz ' JREY 5
) fecell is the functional unit of life }d; existing cells do not give rise to new cells
75 et & faozr wdt s 3. *
(a) #1123 Yyt Aot 5 w3 o (b) B® tes & gioars feael J

(c) A% ftes & argwraa fearst 3 (dyFrer s 53 Aw 3 501 qUEE
‘Ecology” is the study of " hi

(a) Plants (b) Animals —€) Thehabitat  (d) Non-living things
ufanrzas fefamrs’ wimis 3 & |

(a) Ufent o (b) F&ea = () aeast TRy & (d) faovte eFanft &

A vascular bundle consist of

(a) Xylem (b) Phloem

(¢) Xylem and Phloem (d) Parenchyma and Collenchymas
fFa st dam g s 3 ﬁ

(a) "femy (b) T®H :
(CLATTEH w3 EBM (d) UTEETEN w3 I sy
Which blood group is termed as the universal recipient ?

(a) l['3 (b) O (c) A (d) AB

AR I&3 AN 3 FeR fermua yuzass faor wher i) - -

(a) B (b)) O (€) A (1 AB
Rods and Cones are sensitive (o '

(a) Taste (b) Smell ) Sight (d) Touch
3% w3 q5 HeesHI® Je 05

(a) AE @ (b) @MU ® (c) femdte @y FuaH &
Which among the following has

(a) Diamond  (b) G

Jat fefanrt fed fam € A3

(a) dtar | ) iE'E"?-'

(a) Sodium Chloride solution =
Rodmrat E S oyt fes firo




130.

131.

132.

134.

13S.

. “——" on Nunve Ko ducCho [ Nnledy o

X

R —
i

Which of ‘ i
the following metals can be purified by distillation ?

a) Alumin;
(a;)‘r lmunugg (b) Iron. (¢) Mercury (d) Copper
il |333|U:3§ HOtega ©f fafgnr a7dt B0 A13T AT AET J:
Whichimf'the foll '(b)' o i - e

R otlowing is not a chemical change ?

(a) usting of i :
£ - - . L= Ir{}n b D [} < 1 g 4 ' . :
I& fefanft feg (5) Digestion of food (c) Fermentation (d) Freezing point of water

(a) &g - . ' :
i T HI BT (b) 3% T uma (c)-8HIT T (d) UTEr B AH™M fae
QO r . . 1 e : =
: xalrchl:ail;llnti 'S used for the preparation of oxygen gas in the laboratory
KCIO ; )
Catalyst <KCl+30,

(?)) Itisa decumpﬁsitinn reaction ang
(b) It is a combination reaction.

¢) Itisadec it ‘
Ed; l: :: ,: g;f:l;’mpﬂtj}tfﬂn reaction anc dccompanied by release of heat.
o= oo nposition reaction and takes place in the presence of light.

UQ{HH‘(‘%' %H ]’HTG{HﬁiHﬁ JdiH &t 1‘3-]1@ AR = - =
bt SET gt a3t yIHafonr v ygar a3 7ier J
Heat i :

2KCIO. ’
3 Catalyst 2KCl + 30,

(a) '?Uﬁ':*’ﬁf??u::a ESHafanr T w3 88 Jet 7 7o 3mu & ugSt A9t 7t 7
(b) &7 f€x AGar ySfafanr 3 4 :
(ey T2T fex fewes Stfafant 3 w3 3y SHayast s Jt
(d) 2T fEa fewes ySifafonr T w3 Saat &t 5 fis Jel J|

Glass is made from molten ingredients mainly made up ot silica or sand. This liquid is called

 takes place when heat is supplied.

(a) Superhot liquid ‘ (b) Super-cooled liquid

(c) EGI}LVIIJ}"] Chlﬂl‘ldf; liquid (d) Chlorine solution

o9 HY 39 3 RS 7 93 3 53t fuwst Awed At 3° gfenr 31 feg 398 nie @ I
(a) M3 JIIH 3T (b) Mf3 33 335

(;‘/)/U'B'l CArUbSIL mlm (d) IBIE WH

With which of the following elements will hydrogen react to give a gas that smells like rotten eggs ?
(a) Oxygen (b) Chlorine (¢) Nitrogen (d) Sulphur

aEtzns, Fa o fARet au A3 92 wiffantt T3alt Jet J @ &1 Jof fesmit feg faa3
5% y3tfafamr agdrt ]
(a) YMTIHH® (b) IBIE (c) BEIEHS (d) A®Ed

The ‘Plimsoll Lines refers to | o it ! |
(a) the lines which are marked on the side of airplane, which indicates the minimum height up to

which plane can fly in air. | — | _
(b) the lines marked on the side of the ship, which indicates the maximum depth up to which a

ship can sink in different regions of sea. A : _
(¢) the lines which are marked on the side of airplane, which indicates the maximum height up to

which plane can fly inair. | 5 | _ _
(d) the lines marked on the side of the ship, which indicates the maximum height up to which a

ship can float over the s%rface of sea water.

‘UfsHA® Juet’ 3 &t I I7 8 ,..
WW%W&W&W%WWWH'WQ@WWE&
qoH g &g 65 AaE J 3% Ad3 ddemi’ J6 | A - ;

(b)nﬁeﬁmﬁn@s%aﬁ»ﬁéﬁﬁfﬁm_?ﬁ%mmmmw
Aedt 7o AeEY © &4 @Y y3d &Y 39 AaET J b i

- 3 wfoasH Goret &% Aoz agemit 5 fin 3

I3
-l

(c) Tt g O ATEIE 3 gait Ut |
"o g f&g €3 Raer J| RAght. v o
(d)mﬁﬁmﬁwﬁsémﬁéﬁ?ﬁmw_%m.m@ﬁﬂﬁa
Fedt 7o mied @ U@ € 3% '3 39 AEe JI | $55 5

: 21




[ e —

136. Which of the following is an example of tRmanAM;iq:q:niam whee!
(a) A planet moving round the sun - (b) Jroiw v WA |
(c) A spinning top (d) The bob of a swinging pendulum
I feéfanst o5 faaar ‘a3t o®’ & Gege J1 =its &g ffa &3
(a) HSA ©ni® wWHe 31 (p) FFFE? =
(c) Pa une fAus (d) &€ USBH &
137. The amplitude of the sound wave decides its
(a) Speed (b) Pitch " (c) Loudness N .
weH 3391 = fer=33 f5sues 9o 7 fERel 3
(3) arst (b) T (c) B9 nR™ iy e
138. When the moon is in the ‘penumbra’ of the shadow of earth, what-kind of eclipse occurs ?
(a) Solar Eclipse (b) Total Lunar Echpse
(c) Partial Lunar Eclipse (d) No Eclipse : a
"E Geen U9St € uses ¥ Quarfenr g 3, fom yae @ o SaeT I
(a) BIA Iz (b) u3s 5 qfae () ni9U 85 9  (d) et qfez st
139. Rechargeable torchlight uses :
(a) DryCell . (b) Lead-Acid Accumulator
(c) Nickel-Iron Accumulator (d) Nickel-Cadmium Cell
(a) Hd A® & (b)) ¥I-39" Agfod
(c) fBam-&a Aafaa = (d) TSam-asHmiH AS &7
140. The shape of the *Milky Way Galaxy” is
(a) Elliplicgl (b) Spiral (¢) Irregular (d) Spherical
fumelt @ FIFIAT T nigg I: |
(a) mzaa (b) Haeerd (¢) mifsd39 ' (d) IS T
141. A phénc;lgraphic camera works on which of the following phenomenon of light ?
(a) Reflection (b) Refraction (¢) Dispersion d) Scatteri
Fﬂaéﬁa:ﬁaéwméﬁafﬁﬁabﬁ%é‘ﬁﬁmiéw(awa: i
(3) Ufsfie (b) MUTTIZH (c) & . (d) fazy
142.  The purpose of making education compulsory up to 10" ¢lass is to
Ea; :nculcatclraélonql ll.t':rm:n:t (b) Reduce unemployment
¢) Improve Industrialization (d) Modernize w
107" N3 3 fHfenr wadt a9 o Hze - O, & i
(o) SaaHE HIM qfoE a@@e
(c) Bewditags v Fug g o
143. The meaning of the word *Heurisco'is
(a) Todiscover (b) To learn
rae ‘foBfana’ & nigg T
(a) HHE - }M iacra
144. When one move from specific examples to
(a) Deductive Approach
(¢) Hypothetical Approac |
(a) foamsfig ugg b
(c) WoSfuz uge

_1,._.'1 . L
e | - . - , : B =
it e e A i, il B o :




145.  Which skill or

146,

147.

148.

149.

150.

leaf
11 ) - tructure ofa
ability of the student is best assessed if she 18 asked to see and draw the s

(a) Prediction (b) Creativity () Aesthetic Ability (d) Observation

- ot € 1S 2 W‘Mw%@ﬁmmﬁ?’ﬁm%%ﬁﬁ?
CHE W3 gERE § foxar famr B :
(l;l;c FF“'E" “_i‘“‘f of questioning in the classrooms are

:‘) Tn create interest and Curiosity (b)y To motivate students

(¢) 1o test the Previous knowledge (d) All of the above

TS RY yis e @ v Gew us:

(a) Ot ni3 B3HasT te 9w (b) fefenradt § USATIS JIO

(c) Ufa® fams & uay waa (d)y Budas FI

\Tv’lm discovered the ‘Branching Style’ of Programmed Instruction =

(a) B.F. Skinner (b) B.S. Bloom

(C) oD AS tawedar (d) H.F. Morrison

yIeuns faefest & ‘gifgar 78 & an fams a3t

(a) gtnie. Afdad (by & H.8GH

(c) BTIHE T. 3T (d) WE.ne. HIHS

Assessment in Science should focus more on testing the ability of students to
(a) answer open ended questions

(b) be sufficiently equipped for higher learmng

(c) state the facts and principles of science correctly 6
(d) apply the understanding of concepts to unfamiliar situation in everyday life

ﬁ"?}jﬁrmu'dh?mﬁWﬁfeﬁrmﬁW& g Bug fmmrer I

cy

gdre
(a) ¥® ygaT € 839 ¥ B 5\

(b) @W@W@ngﬂﬁ?ﬁaﬁ
(cy%ﬁmﬂ?i%éﬁm%fﬂu@?inﬁremwwaaﬁﬁsﬁ e
(d) I HIES rrg pfafes I3t 3 TPsE € NS § B 98

Constructivist approach in teaching science tjefers to
(a) providing more and more reading material to students

1di it ic help to weak students
b) providing additional academic _
Ec; gpplying different formulae In solving problems

. hasis in order to
: . a~iance may be given dug emphast
Practlcil Vv}')ﬂ;;l;:;;‘zl?:fk o ;unctuality and regularity of students
(a) to Kec

(b) help the students verify the theoretical concepts

‘ dents
e of marks obta1necfl by_ t}.\e stu ‘
(8) SpRL e percentaglop the habit of maintaining written records

(d) help the students deve S fET R .

fefamis <3 W;m fmfhasT 3 fimis s weh

(a) fefenradf € frrtae TEETE & U3 q9s U Hee I96 ST

(c) fefemiradil & faaras f ez v feaR J96 BT
ferg fopudt 199 .

(d) feferradmt o .




o : :al Studies (Q. Nos. 91-150)
Social Science/Socia g £ 91-150)

91. Who excavated the site of Mohenjodaro in Sind? |
(a) R.D. Bannerjee (b) D.R. Sahni

‘unni S. Bisht
(¢) Alexander Cunningham _(d) R
o g widaes @ fears ©f yeret fams Jist

(a) »rrg. 31, g&aIAT (b) 3. TS, ATaal

(c) WBaHST ATBIH (d) 9. WA, fans
92. What does the term asva mean in the Rigveda”

(a) Bull (b) Cow : (c) Horse

fgaree &g Fae ‘wAEe’ T df MJg J7

(a) BF (b) a1t (c) iz

93. What is the astangika-marga®
(a) Seven-fold path (b) Eight-fold path  (¢) Nine-fold path
AT HTIaT &t I
(a) A2 UJ3M IAZ (b) Wid UI3t IA3T  (c) & UI3T IAST

94. Piyadassi. Emperor Asoka’s second name was discovered in:
(a) AD 1715 (b) AD 1815 (Y AD 1915
FHJ'C A €7 €AJT 3'H UiteTHT dfvpar faper A
(a) AD1715 @8 (b) AD 18158  (¢) AD 1915 S8

95. Who was Pulekesan 11?

(d) Serpent

(d) &7l

(d) Ten-fold path

(d) TH UI3T IAIT

(d) AD 1955

(d) AD 1955 g

(a) Chalukya King (b) Gupta King (CT Pallava King (d) None of the above
UBIHE 1l d= A
(a) I&fa@ = (b) IUI TH (¢) UBT IH (d) Budaz IFT &It
96. Who among the following introduced the market regulations?
(a) Qutab-ud-din Aibek (b) Balban
(¢) Alau-ud-din Khalji __ (d) Mohammad bin Tughlaq
arrg fsufuzrer § It féfanrt feu’ fand gg otz M
(a) I3g-Be-di5-maa (b) T®Es
(C) W@-@E—@K—W (d) m“m_m
97. Abul Fazl was in the court of:
(a) Sikandar Lodhi (b) Sher Shah Suri  (¢) Babur (d) Akbar
me® ea® feRe g7 &g Aty _
(a) fReg BUt  (b) AS FO BT () FwEe (d) =g
98. The British East India Company established the Dual System in:
(a) The Punjab (b) Bengal (¢) Rajasthan (d) Awadh
fafer €tre fFshrr quat 3 Taar yaa Aarfus o3 At
(a) Uve e (b) =Har® feg (c) IWRES F9 (d) weg fg
99.  When was the Permanent Settlement introduced in India?
(a) AD 1757 (b) AD 1764 (¢) AD 1773 (d) AD 1793

3793 I9 AET FEUs ae B9 o137 famir
(@) AD1757 %9 (b) AD 176488 () AD 1773 g
100. Charles Wood's Dispatch is associated with: ° | |

(@) Missionary Work (b) Education (c) Military System
9'ISH T3 U39 AEUS T ;

W . i o i 3
o A e palh R ot L e e

% N -\."'. i ] I::- '_-q.l |'|- _1..._ ri:r-ll't e B4 4

e KRN o R B L Tk, T e ;
= ; R b y s F - g,
3 Ty . _ % (d PR : s T
o il e e, i o s sy S T
e . F b= i? B SURSEE Thid 0 ";n-dll "
i ; oq : --.-F::.I‘ 'I\- L q % ol - :. M I -
' 2k X L 2 B AR i 4
o il AL T G

(Paper-11) 24




Bt
(a) Calcutta 'St session of the Indian National Congress held”

Frg=t FTHZF Fiars .](b) Bombay ¢) Delhi (d) Madras
(1) T oy T IS faﬁ&%elwﬁ“ :
103. Wh o © fod fer (4 weaw fel
: O presi '
(a) R]?rc, I[?:ﬂ over the first session of the Indian National Congress? .
T3S FE=S aiméh% Dadabhai Naoroji (c) Ananda Charlu (d) W.C.Bannerjee

_ ufo® Ams & yosat fams oist Al S
(a) m"3, b =5 : | LU
) AL ¥2  (b) Tegt 59 (¢) AT TG (d) e
104. When was the Bengal Province partitioned?

(a) AD 190] (b) AD 190

7 . * 5 AD 1012
mgﬂﬁ'ﬁaﬁxﬁ.ﬁﬂJ (c) AD 1909 (d)
(a) AD1901TE8  (b) AD 1905 fi&s

(c) AD1909f55 (d) AD 101218

Ifie““f)" the wemf? leader in the Indian National Congress:
(a) Dadabhai Naoroji (b) B.G. Tilak (c) LalalajpatRai (d) Bipen Chandra Pal
33t IR aaen feg man forshr dige @t ufoes a9

(a) T=FET FIAT (b) 5. fama (c) &% 7UZ TfE (d) faus gvg u's
106. Sir Syad Ahmad Khan belonged to the city of :

105.

(a) Del (b) Lucknow (¢) Aligarh (d) Allahabad

Hd REme mifowe ws for mfog &8 faaz &

(a) f&@t (b) =58 (c) mEiarg (d) WETEY
107. Who was not the parnt of the Khilafat Commitiee”

(a) Hasrat Mohani (b) Hakim Ajmal Khan

(¢) Mulana Abul Kalam Azad (d) M.A. Jinnah

g= fumrez anet & o &dt w7

(a) TS HUA! (b) TrfaH WHE W

(c) HEE nE® THH M (d) "ni. B, fiag

[al Dhingra executed?

& :: :‘e{j}:dac:numn (b) Lnlf:ﬁ (€) Delhi (d) Karachi

o ws drarer & fa@ gt fest aet At

(a) B35 (b) L] (c) fewt (d) agw<t

f the Punjab in April 19197
109. 2:’)"*0 oy O Tt DI £6) Michacl O'Dwyer (d) James Witson
1 (o) s IU 0 € sl @ feows

(a) 5 o Lig Wiy N
e, 22;" fﬁ:ﬁ;ﬂmg Amritsar o S _{c) Fatehghar Sahib (d) Goindwal Sahib
- Sgfra— e o b TGP b
(a) nmw {.h) CIGELE ¥ (<) | () afe S m %
(a) Rajya Sabha (b) mwﬁa (d) m S s



112. Who is the Chairperson of the Rajya Sabha?
(a) President of India
(¢) Vice President of India

(b) Chief Justice of the Supreme Court

(d) Chief Election Commissioner of India

dH AT € Yyu'sd & J7
(a) 393 € THSIUS (b) ﬂ'&%’*@g W e 818 FRICH
(¢c) 393 € QU-IHeIuIt (d) 393 € Hd IT THIHBS
113. Where is the seat of the Indian Supreme Court situated? :
(a) Kolkatta (b) Delhi (¢) Mumbai (d) Chennal
3733t Ade-89 nT®3 & Al fag rfas I )
(a) ABAI (b) &t (c) Hg=t (d) g&eT
114. The Sarkaria Commission i1s known for:
(a) Centre-State Relations (b) Water Dispute Resolution
(¢) Education System (d) Financial Federalism
AJITIT AfHAES  ATfEn 7T I
(a) IEI-IH AU BLt (b) UF safn ¥ I% BET
(¢) THTEmT Y&t wet (d) fe3t Fue &t
115. Which party system is prevalent in India?
) (a) Military System (b) Single Party System
(¢) Two Party System (d) Multi-Party System
393 €9 a3t uadt yaadt yus3 I
(a) TH®cTt y=rst (b) feafadt utadt y=#t
(¢c) T-UTact yIst (d) FI-Uget yast
116. The idea of Panchsheel is associated with: -
(a) Tibet (b) India (¢) England (d) Nepal
UgHI® T fegrg AEU3
(a) 3893 % (b) FI3 FH (c) @3 a8 (d) 3us s

117.  Which country is Nelson Mandela associated with?
(a) South Korea (b) South Africa (c) South America (d) Uganda
SBAS H3® fIA eF 5% A9u3 I
(a) T g (b) TR migdar  (¢) TuR wider () o
118. Identity the second President of Indian Republic:
(a) S.Radhakrishnan (b) Rajendra Prasad  (¢) V.V.Giri (d) Dr..Zakir Hussain
93T IE339 € TAT IHIIUST T ugTE 9
(a) MA. ITfIHBS (b) THET yFre (c) <= fardt (d) 3. TfYg girs
119. Identify the first Vice President of India: : §

(a) Dr. Zakir Hussain (b) V.V. Giri (¢) B.D. Jatti | (d) S. Radhakrishn
93 ¥ Ufas Bu Iregust & uas 29 s

(a) 3. Ffag gAs (b) .. fardt (c) =t 3. 73t (d) "A. Iufymss

120. What is the number of seats in the Punjab Legislative Assembly?

(fn) 115 (b) 117 : (c) 119 (d) 121
U feus war &g et & faredt figedt 39
(a) 115 (b) 117 (¢) 119

(Paper-11) 2 (d) 121




121.

123.

124.

122,

126.

127.

128,

The Airtitle 14 of the Indian
(a) Right to Equality
(¢) Right :

C onstitution stands for:

' (b) Rightto Life
o . _
P, (d) Right to Property

I3 /

s Afegrs o IS 14 gt gger J
a -

_ W'@:’}fﬁaﬁaﬁ (h)T—ﬁ%’r’;%mmﬁ
(¢) Asxdt & nifuarg &
T'he Mandal Cununissiﬁn 1S
(a) Minorities

associated with the concern of:

(b) Fﬂl‘eignerq (C) N
[ . : [ribal
HES IHHS fore e 5% AYUs 39

(@) "B AR (b) fedping () Ftfomms (d) fugdt HEMO
Which state does the DMK Party belong to?

(a) Telangana (b) Tamil Nadu (¢) Kerala (d) Odisha
DMK USet fan 991 a7 Hdg qudt 39

(a) IBIET (b) 3IH® Fs (c) AIS (d) &3t
When was Punjab reorganized on the basis of language?

(a) 1947 (b) 1955 (c) 1960 (d) 1966

ITHT € MUT 3 UAE & e HB3T THEE H?

(a) 1947 (b) 1955 () 1960 (d) 1966

The Balwantray G. Mehta Report is associated with:

(a) Panchayat Raj ) (b) Sarvodaya Work

(c) Electoral Reforms (d) Goods and Services Tax (GST)

gEe3ae #. HfgsT fouse reus 7
(a) UgfEs IH &% (b) AISfeT AH &'

(c) 9¢ AUT &8

[dentify the top layer of the Earth:

(a) Core (b) Nife - (c) Crust (d) Mantle

T95t @ F¥ 3 QuIsh yd3 € U I9: i |

(a) 9 (b) BEE (c) Ut d) Hes
' in Farth time?

Which planet has the smallest year i

(a) l;/[elj'ciry (b) Pluto (¢) Neptune (d) Earth

: 3 7Y 3 8 Jer 3

fug< g% &g faaz qfd I A3 3 8 A J

(@) T (b) TN (¢) ¥ (d) uast
: rth?
* ' ‘s the smallest on the Ea |

IN)I’“(:] .Contlncnt £ (b) Aﬁ‘iCﬂ (C) Austraha (d) Eurﬂpe

a Sla :

oot Bug fgar BE 3 g7 HoE J? ;

(@) ¥ (b) EdtE © WA (d) gy

' 27

(d) Backward Classe€s

(d) TAZ M3 AT &I (AALT) &7

) o



des 1s knowh as:

129. A landmass surrounded by sea on three sl o (d) Strait
2 STa " k] {L:} ﬁ n
(a) Peninsula (hb) Archipelago et T
fS& ufimit 3 AHEd enfd furfani (d) -

(a) ugfEety (b) sdtar (¢c) ©UHHJ

130. EI-Nino is:

.k Ocean Current
(a) No Ocean Current (b) High Ocean C

G )ce ‘urrent
(¢) Warm Ocean Current (d) Cold Ocean Cu

(a) MITHTIIG 3941 &dt J
(¢) ITIH HITHAIG IJdT

131. Which country is called the land of *Rising Sun"”

(by Eg HITHTII EGEL
(d) B3t HITHTII 7Jd]

(d) Taiwan

(a) North Korea  (b) Japan (¢) China
fgoaT o ‘93¢ Hon ©f U9st qa@Er J7 :
(a) B3t Igm (b)) AUS (c) Ot (d) 3IEES
132. Which area is not linked to the Indian Ocean” |
(a) Africa (b) Asia (¢) Arctic (d) Australia
fgazT ¥39 I HTTHGT &% adt gfanT J7
(a) MEIA (b) THMT (c) MIdfed (d) PTHSSMAT
133. Which soil type is predominant in Punjab? :
(a) Arid (b) Alluvial (¢) Black (d) Laterite
Urrg &g it <t faast famd ydd J
(a) EA9 (b) T&3 (c) THB (d) BcTEIC
134. Identify the state not having Jhumming type of farming : |
(a) Assam (b) Nagaland (¢) Mizoram (d) Haryana
g o ugTE &9 mA &9 shifa fary €t u3t &5dt Jet?
(a) MTA™H (b) ST (c) HiIHIH ' (d) IJfonrsr
135. Which of the following contributes 63 per cent of India’s petrnleu;ﬁ‘?
Ea). Afsam. T (b) Muzthai High (¢) Kerala (d) Gujarat
Jot fifanf feg’ fag3™ 393 © USIBMH T 63 YITH3 taes uer J9
(a) M™H™H (b) UEE‘I JTE] (c) JIH (d) q_!ﬁﬂrﬂ'-
136. Identify the non-food crop (s): _
(:1) Jute (b) HRubber (¢) Cotton (d) All of tiese
Jg-H0 A% € Ue'E .
UZHO b) d¥3 -
" L 5 A (d) feg w3
137. What is the recorded forest area in Punjab?
(a) 6 per cent (b) 9 per cent (¢) 11 |
. ‘ 2 per cent d) 15
drre &g faards o3 AT&3 U39 I7 (d) 13 per cent
(a) 6 ' b) Y
) 6 yFEs - (b) 9 yFEs © T @ 15 g
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138,

139.

140.

141.

142.

143,

o 1 T T AT

3 fopa (b) Noi '
Wy s (c) Height (d) Distance _'

(by 7 ‘
Where was the o (c) Eo=t (d) Tst

b) Bray; in 19971
1997 &9 a53 5= (b) Brazil ;

Haavgm (¢) China (d) Japan
AUz ey |

: (c) o1& (d) US>
(a) UW fincss research:

' of society (b) Studying individual behavior and social action
Wﬁq%%ﬂ. | 2 (d) All of the above

(a) FHR @ &
(¢) ﬁqufaf::?;;:;:mms - (b) fenaters fezas w3 AHER o € miftrs
(d) BuIa3s A9

(a) AnammmMaMmhﬁmu%m
(b) A form of question * 5

(¢c) A theory -

LS

(d) An example ks __"‘;E‘
fra ufeamusr 7 PRSIy

(c) &= frats |

W hat are the

- b
a
¥

%

R, 5

(b) It saves destruetio :" ik
(¢) It achieves greater cooperatio
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146. Which of the tollowing is not a part of social science? :

(a) Sociology (b) Economics (¢) Mathematics (d) Political Science

J&' fefan® o9’ faus muw fefomis & AT &t J7

(a) FHH FH3T  (b) WIH FATHSS () IfE3 | (d) IHBIET ATHST
147. Identify a sociologist among the tollowing:

(a) A.K. Sen (b) Max Weber (c) Arnold Toynbee (d) Bertrand Russell

J&° fEfan feg AHHATAESS & uas a9

(a) T.X..HS (b) HIA 99 (¢) nIBE&3 ZuaHr (d) gICI 3 TAS
148. Who introduced the concept of Sanskritization ?

(a) M.N. Srinivas  (b) A.R. Desai (¢) Andre Betellie . (d) G.S. Gurye

FRfaSTags € s e yfsues farps o137 At

(a) NH. N5, HIf&=™H (b) €. »irg. et (c) nisgt oS (d) . A, E!JE!‘E&
149. Who is the main author ot “*Open the Social Sciences™? |

(a) Dipankar Gupta (b) Satish Sabarwal

(¢) Immanuel Wallenstein (d) Andre Gunnar Frank

“Bus fo AR® AEt AR @ HY &ud & J9

(a) TUFT JUIT (b) A3H ASITS

(c) FEHEU® TBEHIS (d) ™37 I5T S
150. The Report of Gulbenkian Commission on Restructuring of the Social Sciences recommended:

(a) Abolition of the post of Professor

(b) Compulsory joint appointment of Professors

(c) Reducing focus on social sciences

(d) Teaching of science only

mmfeﬁmmeymmgmﬁaﬁmﬁﬁfm%mﬁﬁ:

(a) USHT € Yye € "3H &t (b) TSRI & Bt Fi £ +

(¢) AH fefomis '3 Fed e J95 & (d) firge fefimms & nii & 4
(Paper-II) | 30

145.

Intervicw is: |
(b) An abstract form

{;]] .,\ '\,*L-.rh”l L}“L‘?‘;“Hl“ng
(d) Noneo f the above

(¢) A theory forming technique
freafe u:

(a) % Hfya geos qem (b) ¥ AEH U
(¢) THU'S & 99& agdt ffa 3axta (d) Buda3 et &

=L
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